
Assignment-1


( Signals and Systems)
1.Find whether the signals are power, energy or neither energy nor power signals:

(i) x(n)= (1/3)nu(n)

(ii) x(n)=e2n u(n)

2. Determine whether or not each of the following signals is periodic.

(i) x(n)= ej6πn

(ii) x(n)=sin(πn/4)

3. Check whether the following systems are static or dynamic.

(i) y(n)=x(2n)
(ii) y(n)=x(n)x(n-1)

4.Check whether the following system is linear or nonlinear.

y(n)=nx2(n)
5.Determine if the following system are time-invariant or time variant.

y(n)=x(n)+x(n-1)
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Assignment-5

1.  Determine the inverse laplace of the following functions.  
1) 1/s(s+1)  2) (3s2 +8s+6)/(s+2)(s2+2s+1)   
2. Explain about the classifications of continuous time system.  
3. A system is described by the differential equation.     d2y(t)/dt2+3dy(t)/dt+2y(t)=dx(t)/dt if y(0) =2;dy(0)/dt = 1 and x(t)=e-t u(t) 
Use laplace transform to determine the response of the system to a unit step input applied at t=0. 
4. Obtain the transfer function of the system when y(t) = e-t-2 e-2t+ e-3t and 

x(t)= e-0.5t          
5. a) Discuss the condition on stability of an LTI system based on Laplace domain representation.         
b) Bring the equivalence between Laplace transform and Fourier transform.

6. Explain the properties of laplace transform     
7. Find the impulse and step response of the following systems  
H(s) =  10/(s2+6s+10 )      
8. For the transfer function    
H(s) = (s+10)/( s2+3s+2)

find the response due to input x(t) = sin2(t) u(t)   
                                                ASSIGNMENT  -6

                                                  (Z-transform)

 Ques 1.  Find the Z-transform of the following signals and also find the R.O.C
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Ques 2.    Find the Z-transform of the signals and also find the region of convergence.

             (i) x(n) = [sin wn]u(n) ..

             (ii)  [image: image7.png]


 


Ques 3.    Find  the inverse Z-transform of the signal
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          and also find the final value of the signal.

Ques 4.  Find the z-transform of x (n),
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 Ques 5.  Find the inverse Z- transform of X(z),
                 [image: image10.emf]
